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1) A bird feeder weights 20 ounces. A bird eats 15 ounces of
seeds from the feeder. What is the total weight of the feeder

and the eaten seeds?

Solution:

Weight of feeder = 20 ounces
Weight of eaten seeds = 15 ounces £
Total weight = 20+ 15=35 ounces

2) Two puppies meet up for playtime. One weighs 10 pounds
and the other weighs 8 pounds. What is their combined
weight?
Solution:

3) Three friends share a large pizza that weights 14 pounds
and order 13 pound of breadsticks. What is the total weight of

their food?
Solution:
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4) Two friendly robots explore a new planet. One robot
weights 32 tons, and the other weights 33 tons. What is their
combined weight on the new planet?

Solution:

5) A farmer harvests 35 tons of corn and 55 tons of wheat.
What is the total weight of his harvest?

Solution:

6) Neha uses 19 ounces of primary yellow and 25 ounces of
primary red for her project. How many ounces of paint does
she need in total?

Solution: ' -*
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